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AOTI'TETIKH OAYMIITAAA 2008
EITIITEAO II

How should interest on partners’ drawings be dealt with in partnership
financial statements?

A: Credited as income in the Profit & Loss.

B: Deducted from profit in allocating the profit among the partners.
C: Added to profit in allocating the profit among the partners.

D: Debited as an expense in the Profit & Loss.

[M®g 0 TOKOC ATOANYENDY TMV GUVETAIPOV KATAYWOPEITOL GTIG OIKOVOMIKEG
KOTOGTACELS TOV GUVETALPIGLOV;

A: [Motdveral og £é60d0 ota. Amoteréopata Xpnong.

B: Aoarpeiton amd ta kEpdN ot Atavoun twv Kepdmdv mpog tovg
GUVETAPOVG.

I: [Ipootifetan ota kEPdN ot Alavopn TV KEPIMV TPOG TOVG
GUVETAIPOVG.

A: Xpemvetar og £€£000 ota AmoteAéspoTa Xpong.

On 1 July 2006 a company’s provision for bad debts was €48000.

On 30 June 2007, trade debtors amounted to €838.000. It was decided to write
off €72.000 of these debts and adjust the provision for bad debts to €60.000.
What are the final amounts for inclusion in the company’s balance sheet at 30
June 20077

Trade Provision for Net
Debtors bad debts Balance
€ € €
A: 838.000 60.000 778.000
B: 766.000 60.000 706.000
C: 766.000 108.000 658.000
D: 838.000 108.000 730.000

Tnv 1 IovAiov 2006 n TpOPAEYN Y10 OTOAELEG XPEDOCTOV LLOG ETOPTING TAY
€48.000.

Tnv 30 Iovviov 2007, o1 epmopikoi ypemdoteg avépyovtal o €838.000.
Amogaciotnke 1 dwaypaen €72.000 amd avTEC TIG OPEIAESG KOL 1] TOKTOTOIN O
g TpOPAeYNS Yo ammdAElES ypewoT®mv o€ €60.000.

[Mota givan ta teAkd Tood wov o cupuneptineovv otov Icoroyioud g
etopeiag otig 30 Iovviov 2007;

Epmopucol [Tp6Preyn yuo KoBapd
Xpemoteg OTMOAELES Ynroérotno
€ YPEDGTAOV €
€

A: 838.000 60.000 778.000
B: 766.000 60.000 706.000
I: 766.000 108.000 658.000
A: 838.000 108.000 730.000




For a manufacturing business, what type of stock is recorded in the trading
account?

A: raw materials.
B: work-in-progress.
C: partly manufactured goods

D: finished goods.

IMo o ropnyovikn emyegipnon, mo1oc THmog anofEpaTog Kataympeital 6To
Aoyapracpd Expetdiievong Epmopevpdtov;

TPOTEG VAES.

NUKOTEPYAGUEVD TPOTOVTAL.
UEPIKDG EMEEEPYATUEVA TPOTOVTOV.
éroa Tpoidvra.
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On 31 October 2006 Anna-Maria owed her suppliers €13.856.

During the year to 31 October 2007, her payments to suppliers totaled
€95.886.

On 31 October 2007 she owed €11.552.

What is the value of Anna-Maria credit purchases for the year to 31 October
2007?

A: €70.478
B: €93.582
C: €98.190
D: €121.294

Tnv 31 Oktefpiov 2006 n Avva-Mapio opeirel 6Tovg TPOouNBeLTEG TG
€13.856.

Kotd ™ didpreia tov £toug uéypt 31 OxtmpBpiov 2007, ot IANpoUEG TG TPOG
TOVG TpoUNOeVTEG avépyovTal o€ €95.886.

Tnv 31 OkteBpiov 2007 opeirel €11.552.

[Mota givan 1 a&io TV ayopdv pe miotwon g Avvag-Mapiag yia 1o £T0g Tov
Myet 31 OxtoBpiov 2007,

A: €70.478
B: €93.582
I: €98.190
A: €121.294

On dissolution of a partnership, the Partnership Ac 1890 requires that moneys
realised from the sale of assets are to be applied first to:

settlement of partners’ current account.
repayments of partners’ loans.
settlement of partners’ capital accounts.
settlement of the firm’s debts.

oQw



Kotd ™ didlvon evog cuvetaipiopon, o Nopog Xvvetoipiopov 1890 amattel
OTMG TO, AEPTA TTOL TPOKVATOVV GO TNV EKTOINGT TOV TEPLOVGLOKDV
otolyeimv datefovv mpadTa:

A: v TNV €E6QANGN TOV TPEYOVUEVAOV AOYUPLUGLOV TOV ETAIP®V.

B: Y10 TNV ATOTANPOUN TOV SaVEI®V TOV ETAIP®V TPOG TNV gTANpia
(ovvetaipopd)

I: Yo TNV €EGQANON TOV AOYOPLOCH®Y KEPAAI®V TOV ETAIPOV

A: yio TNV €E6QANCN TOV YPEDV TNG ETALPIOG

A, B and C were partners, sharing Profits and losses equally.

A retired and B and C continued in Partnership sharing profits and losses
equally. Goodwill was valued at €60.000 but was not shown in the books.

Which entries will record the adjustments for A’s retirement in the books?

Capital Accounts

A B @

€ € €
A: - Credit 10.000 Credit 10.000
B: Credit 20.000 Debit 10.000 Debit 10.000
C: Debit 20.000 Credit 10.000 Credit 10.000
D: - Credit 30.000 Credit 30.000

Ot A, B kar I givan cuvétaupot, potpalovrag to kEpoT kat tig nuiég e&icov.

O A anoympel and 1o cvvetaipiopd kot tov cvveyilovv o B ko o T,
popdlovrag Ta KEPOTM kot Tic {nués e&locov. H onun kot meloteio amotipdron
og €60.000 ko dev Ba gppaviotel ota Aoyiotikd BiAio.

[Toleg eyypa@ég TaKTONOINGNG Y TNV AIOYDPNOT TOL A, TPETEL VAL Yivouy
oto Aoylotikd PifAia;

Aoyapracpoi Kepolaiov

A B C

€ € €
A: - [Tictwon 10.000 [Tictwon 10.000
B: [Tictwon 20.000 Xpéwon 10.000 Xpémwon 10.000
I: Xpéwon 20.000 [Tictwon 10.000 [Tictwon 10.000
A: - [Tictwon 30.000 [Tictwon 30.000

If a partner cannot clear his debts on dissolution, the other partners must clear
these debts in the following manner:

Partnerships profit/loss sharing ratio.

Debts are shared equally.

In the ratio of their last agreed capital balance.
Debts should not be cleared by other partners.

ocQw»




Av évag cuvetaipoc dev eE0QANGEL TIG OQEILEC TOV KATA TN S10AVGN TNG
etopeiag, TOte o1 LIOAOITOL cuveTAipoL Do TPEMEL va TIg EE0PANGOVV LE TOV
e&ng tpomo:

A: pe Pdon v avaroyio KEpODV Kot {npmv.

B: va T potpactovv e€icov.

I: LLE TNV OVOA0Yi0 TOV TEAEVTAI®V GUUPOVNOEVTOV VTOAOIT®OVY TV
KEQAAUI®OV TOVG.

A: Aev mpénet va e£o0pAnBovv amd Tovg LTOAOITOVG GLUVETAIPOVG.

Constas sold a machine which originally cost €14.900.

At the date of sale the accumulated depreciation on the machine was €8.940.
The sale proceeds were €7.455.

What is the profit or loss on the sale of the machine?

A: a profit of €1.485
B: a loss of €1.485
C: a loss of €1.495
D: a profit of €1.495

O Constas moAnce &va unyavnua apytkod kéetovg €14.900.

Tnv nuepounvia g TOANGNG 1 CLGSOPELOEIGH ATOGPECT) TOV UNYOVALLOTOG
ntav €8.940.

H elonpaén amd v moAinon nrov €7.455.

[Too o T0 k€Pdoc N 1 {Nud amd TNV TOANGT] TOV PUNYOVILLOTOG;

Kképoog €1.485
nud €1.485
Znwaé €1.495

Képdoc €1.495

bW

If a company has the word limited at the end of its name, this means that:

A: There is a limit to the number of shares that can be issued.

B: The number of shareholders has a fixed upper limit.

C: The shareholders’ liability for the debts of the business is restricted.
D: There is a limit to the amounts the company can borrow.

Av o petoytkn etotpeio £yl ™ AEEN «TEPLOPIGUEVT» GTO TEAOG TOL
ovOHOTOG NG, AVTO onuaivel OtL:

VILAPYEL OP1O GTOV PO TOV LETOYDV TOL UTOPEL VO EKOMOEL.

0 0p1OUOG TV PETOXMV EXEL £VO, KODOPIGUEVO OVATATO OP10.

N €VOHVN TOV PETOY®V Y10 TOL XPET TNG ETALPIOG ElVOL TEPLOPIOUEV.
VILAPYEL £VOL OPLO GTO TOGO TOL 1) ETALPIN. UTOPEL VO dOVELGTEL.
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10.

10.

John and Robert are in partnership, sharing Profits and Losses in a ratio of 3:2.
They maintain current accounts and fixed capital accounts.

In the last year, their profit before appropriation was €27.800. Robert is
entitled to an annual salary of €3.800.

During the year John and Robert made cash drawings of €12.000 each.

What is John’s share of the profit?

A: €2.280
B: €9.600
C: €14.400
D: €16.680

O John ka1 Robert givail cuvétaipot, e avaroyio, GOUUETOYNG T KEPON Kot
T1g {nég 3:2.

Al povv TpEYOVUEVOVG AOYOPLAGLOVG KOl GTOOEPOVG AOYUPLUGLOVG
KEQPOAQi®V.

Tnv tedevtaio xpovid, Ta KEPOM mpo ¢ dravoung rav €27.800. O Robert
dkatovtar eoto petd €3.800.

Kotd ™ didpreta g xpovidg o John kot o Robert ékavav amoinyelg €12.000
0 Kabévag.

Moo eivan 0 pepido képdovg Tov John;

€2.280
€9.600
€14.400
€16.680
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11.

11.

Given figures showing sales €28.500, opening stock €4.690, closing stock
€7.240, carriage inwards €570 and Purchases €21.360, the cost of goods sold
figure is:

A: €19.830
B: €19.380
C: €18.810
D: € Another figure

Aivovton otoryeio mov deiyvovv twincelg €28.500, apykd otok €4.690,
TeMKO otok €7.240, petagopikd ayopdv €570 ko ayopég €21.360. To
KOGTOC TV TOANOEVTOV EUTOpEVUATOV Elvat:

A: €19.830
B: €19.380
I: €18.810
A: € Eva dAlo mocd




12. Which of the following items is NOT an appropriation (or distribution) of
Profit for a limited company?
A: Debenture interest payable.
B: Ordinary dividend payable.
C: Preference dividend payable.
D: Corporation tax payable.
12. [To1o amod to mopakdto otoryeio dev amotelel S0voun KEPSOLG LG LETOYIKNG
gtoupiog;
A: TOKOG OLLOAOYLDV TANPOTEOG
B: UEPIOLO KOWVDY LETOYDV TANPOTEO.
I: UEPIOUO TPOVOLOVY®V LETOYDV TANPOTEO.
A: ETOPIKOG POPOG TANPOTEOC.
13. The following is a list of items that may appear in the annual financial
statements of a manufacturing company:
e cost of sales
e stock of raw materials
e creditors
e preference share capital
¢ plant and equipment
® wages paid
e clectricity charges unpaid at the balance sheet date
e cash
® motor vehicles
¢ bank overdraft.
How many current liability items are there included in the list shown above?
A: Three items
B: One item
C: Two items
D: Four items
13. O mopaxdto givar £va KOTAAOYOG GTOLYEIWV, TOL ELEOVILOVTOL OTIG ETHOIEG

OIKOVOUIKEG KATOOTACELG LG PLOUnyaVIKTG ETonpeiag:

KOGTOC TOANOEVTOV EUTOPEVHATOV
OTOK TPMTOV VADV

TIOTOTES

TPOVOLLOVYO UETOYIKO KEPAAOLO
EYKOTOOTAGEL Ko EE0TAGUOG
nuepopicHio TAnpwbiva
NAEKTPIKO PEOULO ATANPOTO KATA TNV NUEPOUNVIR cOVTAENS TOV
IooAoyiopon

petpnTd

QVTOKIVITO LETAPOPDV
TopoTpafnyua tpanelog

[Toca otoryeia Bpoyvmpdbesov Tabntikod cupmepthapupdvoviol GTov mo
TOVO KATAA0YO;



Tpia otoryeia
"Eva ototyeio
Avo ctoyyeia
Téooepa otoyyeia

BOwp>

14.

14.

Which of the following events results in an increase in working capital?

A: The transfer of raw materials into production.

B: The acquisition of raw materials on credit.

C: The receive of bad debts written off.

D: The sale of finished goods to customers on credit terms.

[To1o amod o TapaKdT® YEYOVOTO GUVETAYETOL AVENOT TOV KEPAAaiov
kivnong;

H petagopd mpdtov vAOV 6TV Topoywym.

H ayopd tpdtev vAGV pe TioTmon.

H elompaén dwypoaencog amaitnong.

H noAnon étolumv tpoidviov oe meddteg Ue TioTmON.

BOm >

15.

15.

The plant and machinery account (at cost) of a business for the year ended 31
December 2006 was as follows:

Plant and Machinery - cost

2006 € 2006 €

1 Jan. Balance 240.000 | 31 March Transfer disposal a/c 60.000

30 June Cash-purchase of plant 160.000 | 31 Dec. Balance 340.000
400.000 400.000

The company’s policy is to charge depreciation at 20% per year on a straight
line basis, with proportionate depreciation in the years of purchase and
disposal.

What should be the depreciation charge for the year ended 31 December
20067

A: €68.000
B: €64.000
C: €61.000
D: €55.000

O Aoyapracpog «Eykatactdoeig kot unyavipate» (6€ KOGTOC) Hog
emyeipnong yia to £tog mov Afyetl 31 Askepppiov 2006 €xetl wg e&ne:

Eykatactdoeig ko Mnyovipoata (k66Tog)

2006 € 2006 €
1 Iav. Ynoroimo 240.000 | 31 Mapt. Metag. oto Mopd Awdbeong  60.000
30 Tovv. Metpntd Ayopd Eykat. 160.000 | 31Aek. Yrorouto 340.000

400.000 400.000



H moltikn ¢ etoupiag eivor va emPopiverl ondcoPeon 20% etnoiong pe v
evbeia pnébodog, Kot avaloyio andcBeon yio Ta £T1 ayopds kat 6160eonc
(mdAnong).

[To16 Ba etvar 10 T0c6 TG andsPeong mov Ba emPapuvOel To £Tog ToL ANyel
31 Aexepfpiov 2006;

A: €68.000
B: €64.000
I: €61.000
A: €55.000

16.

16.

A firm bought a machine for €50.000. It is expected to be used for 6 years,
then sold for €5.000.
What is the annual amount of depreciation if the straight line method is used?

A: €7.000
B: €8.000
C: €7.500
D: €6.750

Mua emyeipnon aydpace Eva unydvnua vy €50.000. Avopéveton va
ypnowomrondel ylo 6 £t Ko petd va movinoel yuo €5.000.

IToto Ba ivar T0 €11610 OGO NG AmdGPecns av EQUPUOGTEL 1) gvbeia
uébodoc;

€7.000
€8.000
€7.500
€6.750
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17.

17.

Based on the following information, calculate the net profit for the year 2008.
Net assets as at 1.1.2008 €35.400

Net assets as at 31.12.2008  €54.600

Drawings for year of 2008  €7.400

A: €62.000
B: €26.600
C: €19.200
D: €11.800

Me Bdon Tig TapakdTm TANpoPopies, vToroyicete To Kabapd kKEPHOG Y TO
éto¢ 2008.

Kobopn meprovoia katd v 1.1.2008 €35.400

KaBapn meplovoia katd v 31.12.2008 €54.600

AmoAyelg yo o £€toc 2008 €7.400

€62.000
€26.600
€19.200
€11.800

BOwx>




18. The correct double entry to record interest on drawings is:
Debit Credit

A: Capital a/c Profit & Loss Appropriation a/c
B: Profit & Loss Appropriation a/c Current a/c
C: Current a/c Profit & Loss Appropriation a/c
D: Profit & Loss Appropriation a/c Capital a/c

18. H opBn dimhoypapikn| eyypapn yio TV KAtoympnon TOV «TOKOL ATOANYE®DV
glvau:

Xpéwon [Tictwon

A: A/opdg Keparaiov A/opdg Anoterespdtmv Xpnong
B: A/opdg Anoteheopdtov Xpnong  Tpeyovpevog A/opdc
I: Tpexobpevog A/opdg A/opdg Anoterespdtmv Xpnong
A: Alopdg Anoteheopdtov Xpnong  A/opog Keporaiov

19. A company has issued 50.000, €1 ordinary share and 60.000 5% Preference
shares of €1 each.
If profits available for dividends are €5.000 and the firm wishes to give out all
available profits as dividends then the amount given out per ordinary share
would be:
A: €0,40
B: €0,10
C: €0,04
D: €0,06

19. Mo petoyin etapia €xet exdmaet 50.000 tov €1 kowég petoyés xai 60.000
5% mpovopovyes Hetoyég Tov €1 ke piog.
Av 10 KEpOT oV datiBevion Yo pépiopa eivan €5.000 ko 1 etanpio emBopet
va Tapoy®pNoel OAa Ta SabEcia KEPON MG UEPIGUA, TOTE TO TOGO TTOL B
000el yuo kGO Ko petoyn Ba giva:
A: €0,40
B: €0,10
I: €0,04
A: €0,06

20. Which of the following statements is true?

oQw»

Ordinary shares have variable dividends and volatile market values.
Ordinary shares have variable dividends and stable market values.
Ordinary shares have fixed dividends and stable market values.
Ordinary share have fixed dividends and volatile market values.



20. Mo omd TIg MOPOKATO KATASTAGELS Eival opon;
A: O1 xowvég petoyég €xovv petafAntd pépiopa kot actadn ayopaio
.
B: Ot Kowvég HEeToyEG Exouv PETAPANTO PEPIOHO Kol oTafepn] ayopaia
.
I: O xowvég petoyég Exovv otabepd péptopa kot otabepn ayopaio Ty.
A: O xowvég petoyég Exovv otabepd pépiopa kot aotadn ayopoio Tiun.
21.  What is prime cost?
A: The total of all the direct costs and all of the manufacturing overhead.
B: The total of all the direct material costs and all of the direct labour
costs.
C: The total of all the direct material costs, all of the direct labour costs
and all other direct expenses.
D: The total cost of all the most important costs.
21. T elvar «tpoTOpyIKd KOGTOC»;
A: To 6UvoAo OADV TV AUECHY KOCTMV Kol OAMV TOV YEVIKOV
Blopunyovikdv K6oTmV.
B: To 6UVoAo OADV TOV AUECHOV DMKDOV KOGTMOV KOl OADV TOV AUECHOV
EPYUTIKAOV KOGTMV.
I: To 6vvorho OAOV TV AUECHOV VMKOV KOGTOV, OA®V TOV AUECHV
EPYOTIKAOV KOOTMV Kol OA®V TOV GAA®V AUEC®OV EOOMV.
A. To 6vvoho OAWMV TV TO GMUAVTIK®Y KOGTMV.
22. A building company purchases a new excavator, costing €40.000.
Its expected useful life is 10 years, at which point it is anticipated that the
excavator will have a residual value of €6.000.
If the reducing balance method of depreciation is used, at a rate of 15% per
annum, what is the net book value of the excavator at the end of three years?
A: €24.565
B: €15.435
C: €20.880
D: €19.120
22. Mu katackevaotikn etaupio ayopdlel éva exokapéa, kootog €40.000.

Avopévetar 6t1 1 o@élun (o tov Ba givar 10 £, ondte Tpocdokdtol 6Tl O
exokapéag Oa £xet vmoiepupatikn agio €6.000.

Av gpoppoletar 1 pBivovoa pébodoc amdoPeonc, pe m06ootod 15% enoimg,
mowo, Ba etvor 1 kaBopn Aoyiotikn a&ia Tov EKOKAPEN OTO TEAOG TV TPLDV
ETOV;

A: €24.565
B: €15.435
I: €20.880
A: €19.120




23. What are the double entry procedures for dealing with a manufacturing profit?
Debit Credit
A: Trading a/c Manufacturing a/c
B: Manufacturing a/c Profit & Loss a/c
C: Manufacturing a/c Trading a/c
D: Profit & Loss a/c Manufacturing a/c
23. [Toa glvan 1 Stmhoypapikn| dradikacio mov xepileTar To Propnyovikd KEPSOGS;
Xpémon [Mictwon
A: Alopdg Expetdiievong Alopdg Mapaywyng
B: Alouog Mapaymyng Alopdg AmoteleopudTov
I: Alopog HMapaywyng Alopodg Expetdievong
A: Alopdg AmoteleopudTov Alonog Mapaymyng
24. A and B are in partnership sharing Profits and losses in the ratio 3:2
respectively. Profit for the year was €86.500. The capital and current account
balances at the beginning of the year were as follows:
A B
€ €
Current accounts 5.750 cr 1.200 cr
Capital accounts 10.000 cr 8.000 cr
A’s drawings during the year were €4.300, and B’s were €2.430.
What should A’s current account balance be at the end of the year?
A: €57.650
B: €51.900
C: €61.950
D: €53.350
24. O A xo1 0 B etvan cuvétarpot pe cuppetoyr| ota KEPON ko Tig {nuég 3:2

avtiotorya. To képdog g ypovidg avépyetal o€ €86.500. Ta vroroma TV
AOYOPLOCUDV KEPAAOIMV KOl TPEYOVUEVOV OTNV apyT TOV £TOVG ETYOV MG
edne:

A B

€ €
Tpeyovpevor A/cpoi 5.750 mort. 1.200 mot.
Alopol Keparaimv 10.000 mior. 8.000 mor.

Ot amoAqyelg Tov A katd ) didpkela Tov £Tovg tav €4.300, kot tov B frav
€2.430.

ITo1o Ba ivar To0 VIOAOITO TOV TPEYOVUEVOL AOYAPLOCHUOD TOV A 6TO TEAOG TOV
£T0VG;

A: €57.650
B: €51.900
I: €61.950
A: €53.350




25. The main account for dealing with Partnership dissolution would be:
A: Realisation
B: Dissolution
C: Revaluation
D: Appropriation
25. O kprog (Pacikdc) Aoyaplacpoc yo T dlayeipion g d1dAvong evog
GLVETOPIGLOV glva:
A: O Mopog ExkaBdpiong
B: O Mopodg ArdAvong
I: O Mouog Emavextipnong
A: O Mopog Atavoung
GOOD LUCK

KAAH EIITYXIA



